Leaf CellLeaf cells are adapted for photosynthesis. They are responsible for making food for the plant. Leaf cells contain many chloroplasts (which contain chlorophyll) allowing them to absorb light energy from the sun. This light energy is converted into chemical energy and stored as glucose.

[image: http://www.bbc.co.uk/staticarchive/abb891f14e58b8ae90facdb47733b7bcd92fbc0f.gif]



Root Hair cellRoot hair cells are located in roots of plants (and only look like hair). They are responsible for absorbing water and mineral nutrients from the soil. 

Root hair cells are able to do this very efficiently because they contain a long, thin projection. This increases the surface area and speeds up absorption. The walls of root hair cells are also very thin so water and minerals more easily pass through.

[image: root hair cell - has a head and tail]Root hair cells have no chloroplasts and do not carry out photosynthesis.
Can you think of why?








Sperm Cell
[image: http://www.bbc.co.uk/staticarchive/07c427f4d30720dff3253fa20013e9ed29c58924.gif]Sperm cells perform an essential function in human reproduction. Their job is to fertilise an egg cell to form an embryo. Sperm cells carry half of the genetic information of the new baby.
Sperm cells contain a tail that is used to swim towards the egg cell. 
The head is packed with genetic information. It also contains a pointed head containing special enzymes to help to burrow into the egg during fertilisation.
The middle section of the sperm is also packed with mitochondria for energy.








They contain a special chemical called haemoglobin which allows it to carry oxygen.
The outer membrane is also very thin allowing oxygen to easily diffuse through.
The disc like shape increases the surface area to allow more oxygen to be absorbed efficiently.
Red blood cells are also the only animal cells without a nucleus. This is to make more room for haemoglobin to carry more oxygen

Red Blood Cells
[image: http://wizznotes.com/wp-content/uploads/2011/02/image001.png]Red blood cells carry oxygen around the body. Oxygen is vital for respiration. Without it, cells wouldn’t have the energy they need for all life processes.








Xylem TissueXylem cells are actually dead! They form a continuous tube of xylem tissue that works like a plumbing system. 
They are just empty cells with no end walls. Only tough cell walls remain to form a hollow tube.

[image: http://www.sciwebhop.net/sci_web/science/ks3/worksheets/word/7a%5C../7a/7Ac2_files/image006.gif]Xylem tissue is responsible for transporting water and providing support for the plant.






Phloem TissuePhloem works with xylem and transports nutrients (especially sugar) throughout the plant.
Phloem is made of living tissue. Phloem cells are connected end to end with holes in the end walls between cells. Phloem contains cytoplasm that is able to flow from one cell to the next through the holes.

[image: http://images.tutorvista.com/content/plant-histology/phloem-structure.jpeg]

[image: Cross-section of a plant root, showing a vascular bundle of xylem and phloem in the centre.]
Ciliated Epithelial CellCiliated epithelial cells have tiny hairs called cilia. They push and move mucus around. They are extremely important part of the respiratory system. The mucus traps bacteria, dirt, and dust and the ciliated epithelial cells sweep the mucus out of the trachea into the stomach where it is digested by the stomach.

           [image: http://www.sciwebhop.net/sci_web/science/ks3/worksheets/word/7a%5C../7a/7Ac1_files/image006.gif]

Nerve Cell
[image: http://res.cloudinary.com/dk-find-out/image/upload/q_80,w_1440/AW_Nerve_impulse2_tcnrmm.jpg]They are adapted to this function by being able to conduct electricity. They are also very long so they can carry the impulses over long distances. 
They also have multiple connections on either end to communicate with multiple other nerve cells.
Nerve cells carry electrical signals called impulses around the body. This carries messages around the body.











Muscle CellMuscle cells are able to contract (stretch to become long and thin) and relax (return back to original shape). This allows the body to move.
They are elastic and able to change their shape in response to an electrical impulse.

[bookmark: _GoBack][image: http://www.chemistry-school.info/15b330680.gif]
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